Sample Test for the STAZ282 Prerequisite Review
MTH 105 Intermediate Algebra

Inzert <, =, or = in the space provided to make the statement true.

0 -3

0[] -3

Find AUE and AmE forthe set & and B

A={4 87, B={51159}

aon=([])

{Use a comma to separate answers as needed. Type M if the solution 15 the empty set)

se=([)

{Use a comma to separate answers as needed. Type M if the solution 15 the empty set)

Find the abzolute value.

Add - 10+ (-8)

- 10+ (-8 =|:| {Type an integer.)

Ewaluate the expression without using a calculator,
ai
7

g3
- {; ] = |:| (Type an integer or a fraction.)



Ewaluate the given exponential expression

54
2

5

4
5
=z =|:| (Type an integer or a fraction. Simpli B your answer )

Use the quotient to a power rile to simplify.
{.—l‘,—hﬁcq- ]3
dﬂ

[71:.5.:4

e TZD

Express the mumber 0.0061 in scientific notation

n.nnm=D

{Use scientific notation. Use the multiplication symbol in the math palette as needed.)

Cuwide and write the answer in scientific notation.

2.2% 10718
55w 10”12

z2x1071®

5.3% 1071 =1

{Use scientific notation. Use the multiplication symbol in the math palette as needed.
Found to the nearest thousandth as needed )



1.

Mame the indicated property.

I[fz=11,then ll==z
Choose the correct answer.

() transitive propetty

(0 reflexive property

() addibion property

() symmetnc property
) multplication property

11.

Solve the equation.

1 3

1
30010 a
The solution i3 X=|:|.
(Type an integer or fraction. Sitnplify your answer )

12,

Ewaluate the followang formula for the values given.

A=mr?, whenr=4 (a forrml a for finding the area of a circle)

The area of the circleis |:|
{Type an integer or decimal rounded to the nearest hundredth as needed)



13

Solve the equation for g

by g
F= 122
I

Choose the correct answer helow,
CI& o
4z
|:|B_ F‘r:2
ky,
ic Fr
ky,
oo quzr2

14. Select one wanahle to represent one gquantity and express the second gquantity in terms of
the first
a 9-foot piece of wood 15 cut into 2 pleces.
Let x represent the length of the first piece of wood. Express the length of the rest of the
wood in terms of x.
15,

Twn friends Don O'Neal and Judy McElroy, go lulang in the REocly Mountans. While
hiking they come across Bear Lake They wonder what the distance around the lake 12
and decide to find out. Don knows he walks at 4.6 mph and Judy knows she walks at 4

tph. Ifthey start wallong atthe same tirne 10 opp osite directions around the lake, and
tmeet in 2 hours, what 15 the distance around the 1dze?

The distance around the lake 15 |:| T,



la.

The salinity {zalt content) of an ocean averages 33 parts per thousand. If 71 ounces of
water 15 collected and placed in the sun, how many ounces of pure water would need to
evaporate to raise the salinity to 47 parts per thousand® {Only the pure water 13
evaporated; the salt s left belund.)

|:|IIIZ

{Round to the nearest tenth as needed )

I'7. Express the inequality a) uvang anumber line, b) in interval notation, and ¢) asa
solution set (use set hulder notat on).
—Fzzz -1
a) Choose the correct number line representation ofthe inequality below.
O ]
*—|—|—|—¢-|—|—|—|—H"—|—|+ *—l—l—l—xﬂl—l—l—l_—li‘—l—lﬁ'
-10-9 -8 -7 -6 -5 -4 -10-9 -8 -7 -6 -5 -4 -3 -2
] .7 -1 D, .7 -1
. Ol ——— >
10-9 -8 -7 6-5-4-3-2-10 1 10-9 -8 -7 -6-5-4-3-2-10 1
b} The interval notaton of the inequality, —7<z< - 1,18 |:|
¢} Express the inequality using set builder notation.
18,

Solve the compound inequality.

¥+5 2 11 and =z-1 =7
Choose the correct solution set.

Oa [8.6]
e, [6,8]
Cic. (6,8)
OD. {—oo,6] W [800)



13

Find the solution set for the inequality.

lp|= 12

The solution setis {p ||:|}

{Type an inequality or a compound inequality. Type Mifthe solution 1z the empty set.

Type Rif the solution 1z all real numbers.)

2l. Find the solution set for the equation.
1
|2z—9|=|—-x+4
2
The solution set1s {D}
(Use a commato separate answers as needed. Type M 1f there 15 no solution.)
21. Graph the equation. oY
v=x+3 E'__
E_
Use the graphing tool to graph the 4]
equation. 2+ )
rFrrr1r 17171 1T 7 T1TT1 |=-
Click to 107=8 -6 -4 -2_2_' 248 10
@ enlarge .
graph ]
-5
-6
40~




22

a) Deterrmne whether the graph

llustrated represents a funchion. 197
b) Give the domain and range ofeach 8
function or relation. 6
¢} Approxzimate the value or values of 4
where y = 2. 2]
- X
a) Does the graph represent a function? 108 6 -4 Iﬁ_é_' 246810
4]
) Yes Iy
) HMao _5_:
b) The domain is D= | 0=
{Type Fif the answer 15 all real numbers )
The range 18 B.= {D}
{Type Fif the answer 15 all real numbers )
) List the walues of x where vy =2.
|:| {Use a comma to separate answers as
needed )
23. Craph the equation uang the x- and by
y-intercepts. 10
5]
yv=—2dx+a &
i
Use the graphing tool to graph the linear 2]
equation. Use the intercepts when ] .
drawang the line. If only one intercept 10786 -4 <2112 46 810
exists, use 1t and another point to draw 1
the line. 1
6
Click il
lick ta T
enlarge nhhil

graph



24,

Find the slope of the line in the figure. If
the dlope ofthe line 15 undefined, =0
state. Then write an equation ofthe miven
line.

The slope ofthe ine s |:|

(Type an integer or a fraction. Type Mif
the dope iz undefined )

Write the slope-intercept form of the
linear equation.

[

{Type an equation using x as the variable,
Useintegers or fractions for any numbers
in the equation.)

25. Use the point-slope form to find the equation of a line wath the properties given. Then
write the equation in slope-intercept form.
1
Slope= - E through (3,—7)
The equation in slope-intercept form 1z |:|
{Type an equation. Useintegers or fractions for any numbers 1n the equation.)
26,

For the functions f(z)= —4x° + 22— 3 and g(x) = x° +4x°, find a) (t+ giiz),

b) (f+g)(a), and ) (F+2)(4).
a) (f+ 9@ =] |
b) (t+ )@= |
o (f+ 2@ =] |



27, Graph the inequality. o

4 &

¥z - EX &

4]

Use the graphing tool to graph the 2+

1nequal1t3r. L L T '|'|'|-|'|:"
Click to A0 =86 =4 -2_2_' 2746810

enlarge g

graph -4—_

-6

-8

40~

28. Determine the solution to the systemof Ay
. . . 104
equations graphically. If the systetn s ]
inconsstent or dependent, so state. 8]
[
¥ o= z+5 4—-
¥ = -+ 7 2

4 X
o & 4 2.1 3 4860

Use the graphing tool to graph the -2
systern. If both equations weld the same -4
line, graph the line twice. .
Click to I
enlarge .
graph 4

The solution to the system iz |:|

{Type an ordered pair. Type [1f there are
infinitely many solutions. Type M if there
1zno solution)



29

Use substituti on to solve the system of linear equations. Check your solutions.

x+tvy—dz= 13
—Zy+ z= — 15
= =5

The salution 13 (DDD}
(Type an exact answer in simplified form. If there 1s no solution, type W for each
coordinate, If there are infinitely many solutions, type an expression involving = for

each coordinate where z represents all real numbers )

30,

A rowing team rowed an average of 138 miles per hour with the current and 7.4 miles
per hour aganst the current. Detertnine the team's rowing speed in still water and the
speed of the current.

The team's rowing speed in still water 1z |:| tniles per hour.

The speed of the current 12 |:| tniles per hour

10



10.

11

12

13

14,

15

16.

6,5,7,51,9

20.

- 18

218 21,

343

25

a1, 18 12
dﬁ

6.1%1077

4.151%107°

-2
%)

the fourth chou

40
81

50.27

172

21.1

L

the first choice

23

24

25

26,

27




